QQQ – GCSE Histograms
(Bronze 9, Silver 10, Gold 11, Platinum 13)
1. The following histogram shows the marks of 342 boys in a maths exam.
[image: ]
a. Find the proportion of boys with a mark between 35 and 60.



______________________________ (3)

b. Hence find the number of boys with a mark between 35 and 60.


_______________________ (1)

c. Estimate the number of boys with a mark between 50 and 65.



________________________ (3)


2. [bookmark: _GoBack]This incomplete histogram and table shows the weight of brains in a lab.
	Weight of brain ( kg)
	Frequency

	
	

	
	

	
	

	
	



 (
Weight (kg)
Frequency Density
3                4               5                6                7                8                9             
  
10
)
a) Why was a histogram used to display the data rather than a bar chart?

_________________________________________________ (1)

b) Use the partially complete information to determine the missing frequency. (3)

c) Draw the two missing bars onto the histogram. (2)






Answers
1. –
a. M1 for finding area using their frequency density scale: 
M1 for dividing area of 35-60 region by their area above:

A1:  (accept 0.09)
b.  boys
c. M1 Attempt to find area between 50-65 using right portion of first bar and left portion of second bar.  (using their scale)
A1  boys
2. –
a. B1 [Weight] is a continuous variable/data is continuous
b. M1 Calculates frequency density of second bar as . May or may not label the frequency density axis on the histogram as 20, 40, 60, 80, ...
M1 Using third bar:   
A1 
c. A1 Height of first bar 2½  squares. Fills leftmost gap.
A1 Height of last bar 4¼ squares. Drawn horizontally between 7 and 10 kg.
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